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Note : This paper is of thirty five (35) marks containing
three (03) sections A, B and C. Learners are
required to attempt the questions contained in these
sections according to the detailed instructions given
therein.
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Section—-A / Gls—d
(Long Answer Type Questions) / (€T IR T%)
Note : Section ‘A’ contains four (04) long answer type

questions of seven and half (7%) marks each.

Learners are required to answer two (02) questions
only.
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Describe silvicultural characteristics and regeneration
methods of the following tree species ?
(@) Cedrus deodara (Devdar)
(b) Shorea robusta (Saal)
ffeiad 9 yonfadl & daaede  faRivay g
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What do you understand by controlled burning ?

Describe in details the impacts of uncontrolled fire on
forest.
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What do you understand by natural regeneration ?

Compare in detail artificial regeneration and natural
regeneration.
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What do you understand by factors of locality ?
Discuss topographic factors in detail.
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Section-B / Yvs—Y
(Short Answer Type Questions) / (79 ITRIT U%)
Note : Section ‘B’ contains eight (08) short answer type

questions of two and half 2% marks each.

Learners are required to answer six (06) questions
only.
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1. Write a note on Girdling.

forme wR fewft foRau |

2. Differentiate between light thinning and heavy
thinning.

Tl e Td MR faRe # o 3 |
3. Write a note on plant succession.
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4. What do you mean by Plus Trees ?
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5. Difference between evergreen forest and deciduous
forest.
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6. Explain the importance of weeding.
f*RTg & Hga & 9uiF BT |

7. Describe phenology of Pinus roxburghii (Chir-pine).
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8. Differentiate between afforestation and reforestation.
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Note :

Section-C / Yvs—TT

(Objective Type Questions) / (A& )
Section ‘C’ contains ten (10) objective type
questions of half % mark each. All the questions

of this section are compulsory.
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Write True or False the against the following.
e & FFe F A1 3 oy |

1. Botanical name of Sandal Wood is Azadirachta indica.

g Pl D M ool sl 2 |

2. Seed maturation time in Abies pindrow (Fir) is June-
July.
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Botanical name of Mahuwa is Madhuca indica.

AgAT BT ATl M HYHT S0SH o |

Devdar and Chir-Pine are non coppicing species.

TISR g dIs BT 7 B dlell Tl 2 |

Alpine Forests are present in Uttarakhand.

SINEUE | reurg 99 Rerd 2 |

Choose the correct alternative.

el fade gy |
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C-Grade Thinning :

(@)
(b)
(©)
(d)

Light thinning
Moderate thinning
Heavy thinning
Very Heavy thinning
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Good coppicing species :

(@)
(b)
(©)
(d)

Chir-Pine
Shisham
Devdar
Haldu
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Seeds of Banj-Oak mature in :

(@ July-August

(b) September-October
(c) December-January
(d) March-April
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Planting system :

(@ Thinning

(b) Tending

(c) Line

(d) Felling
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10. How many plants can be planted at 2.5 x 2.5 meter
spacing in one hectare area ?

(@) 2500
(b) 100
(c) 1000
(d) 1600

TP 29X 85 § 25 X 25 Hiex # fobe ol o o
qaHd 7
(31) 2500
(@) 100
(|) 1000
(g) 1600
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